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g |G S| e | % | | mm | GOABR) 10| & | R
E R 2 F 15.5 21.0 11.0 14.7 74 1.5 29.3 1,829.6 6.9 1,611.5 35.5
3 15.2 20.3 10.9 14.4 74 1.5 23.0 1,590.1 7.3 1,434.0 24.0
4 14.8 20.2 10.1 13.5 73 1.5 27.0 1,733.2 7.0 1,293.0 38.5
5 14.3 19.4 9.9 13.4 74 1.5 20.1 1,501.2) 7.4 1,576.5 22.5
6 15.7 21.4 10.8 13.8 69 1.5 31.6 2,007.2) 6.7 715.5 24.0
6 F 1 A 3.9 9.4 -0.7 5.6 70 1.6 13.3 140. 4 5.9 38.0 8.0
2 4.1 8.8 0.1 h.4 67 1.9 16.3 109.2 7.2 45.0 6.0
3 6.2 12.0 1.1 5.9 63 1.8 17.6 163.7 6.7 52.0 9.0
4 14.7 21.3 8.5 9.8 60 1.8 13.3 212.8 6.1 69.0 5.5
5 19.0 25.2 13.1 13.9 65 1.7 16.0 219.2 7.2 65.5 9.5
6 22.2 21.7 17.3 18.7 71 1.3 15.9 148.0 8.2 122.5 14.0
7 28.2 34.0 23.5 27.0 72 1.5 11.3 181.5) 6.7 43.0 17.0
8 28.5 35.4 23.6 2h.5 67 1.5 14.3 270. 8 5.3 54.0 24.0
9 23.9 30.0 19.4 20.7 71 1.4 31.6 171.7 6.5 142. 0 18.0
10 18.2 24.0 13.4 15.0 72 1.3 17.1 161.0 6.6 28.0 10.5
11 12.0 17.8 7.3 10.7 75 1.2 14.8 127. 6 6.2 24.5 )
12 6.9 11.7 2.6 7.1 71 1.4 15.2 101.3 7.4 32.0 2.5
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1A831H 1 201 0% FHLEFE 335149 135E28% 5 8kn
473 2H 1 Q090749 IEY - KL 34544 135E40% 1 4kn
5H 8H 1 1 7R 0 2% FoHkLEIL7ESS 340549 135E07% 1 1knm
5A22H 1 2046459 A& It 3E58% 135E354% 1 3km
5HA28H 2 1 7R0 4% #HEEIES 35E19% 136E17% 4 4kn
6H28H 3 1 30849 HERIF T HE 35E08% 135E39% 1 5kn
7TRH2T7H 1 02W0 149 KK - SCEFEE 345449 135224 1 4km
7TH28H 2 100 1% KB - FkILFREE 34199 135194 1 2kn
7TH28H 1 23K229 KK KEFEE 34554 13582249 9 kn
98 ©6H 1 165429 =ZFEERESH 34374 136E104% 57 km
10RA16H 1 082 14 FEkmMHE 34134 135E15% 1 1km
10B24H 2 115 149 KBR - mERIFEE 35E00% 135E30% 1 5knm
11HF 88 1 234849 ZTR - FFKLREE 34E20% 135E424% 7 5kn
11A8 9Ei» 1 202649 KR - REFRSE 34E55% 135E23% 1 Okm
11810H 2 00R38% KWK - ERTEL 34554 135E234% 1 1kn
11H208H 1 17H2249 BREBEED 35E264% 136E54% 1 Bkm
12R238 2 06299 HEE 34EA3% 136FE544% 5 3km
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119 - 69 4 3 3 114 56 3 147 14 13 19 52
128 - 61 1 8 % 117 49 28 166 24 14 18 5
118 - 46 - - 37 111 43 20 144 11 9 24 50
106 - 28 - - 50 124 53 2 180 20 18 22 .- 55
153 - 76 1 13 58 71 1 25 134 28 12 22 4 29
- - - i - 21 5 5 9 709 2 - 1 1
- - - - - 13 4 4 - 0 13 1 - 3 4
- - - - - 15 5 5 1 8§ 4 2 - - 3
6 - - - - - 10 10 9 0 - - - - 3
19 - - - - - 7 7 4 9 - - 1 - 2
24 - 9 - - - 1l 11 1 9 - 1 1 - 4
31 - 31 - - 4 4 - 9 - - 4 - 5
31 - 30 - 1 - 4 4 1 5 - - 9 - -
27 - 12 - - - 6 6 3 9 - - 6 - 2
15 - 1 - - - 5 5 4 3 - - - - 3
- - - - - - 4 4 5 0w - 5 1 - 3
- - - - - 9 6 6 2 5 2 1 - - 4
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B oW BT % | Fas | 1A |28 |38 4R |5A|6A|7A|8A9A 108 | 118|128
% B 715 38 45 52 69 65 123 43 54 142 27 25 32
4t 887 49 53 59 66 67 123 47 82 238 43 24 36
I - SR~ 632 44 46 63 51 61 122 74 31 4D 39 25 35
= | 148 50 73 79 72 99 125 100 187 557 58 33 48
g s 876 51 65 8 . 65 66 118 108 46 194 4l 27T 12
X % R | 1,038 53 62 93 82 56 137 146 152 125) 53 32 47
& ] - - - == 94 147 171 237 560 T - -
% It 793 47 49 75 51 39 116 88 61 144 32 4l 50
# wo| 1,42 51 72 77 46 50 142 135 182 235 52 40 60
x it - - - - - 60 175 93 55 163 46 - -
Wk or B - - - = = = 170 175 255 420 43 - -
o4t b | 2,706 63)  95) 92 153 183 183 372 471 829 113 77T 75
H W & - - = = - 401 201 589 891,18 - - -
A, & X 78 107 x 155 135 240 209 259) 413 77 67 75
£ O® | 1,691 84).105 117 217 246 252 70 116 296 77 21 90
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W % | EFH | 1A 28| A 4R |5A |68 |7A| 88|98 108|118 |128
( ¥ B3 % &K )
%= =4 15.7 3.9 41 6.2 147 19.0 22.2 28.2 28.5 23.9 182 12.0 6.9
gt 126 0.9 1.0 3.1 11.6 16.1 19.4 25.2 25.0 20.7 15.2 9.2 4.1
X F O 13.5 1.6 1.8 4.1 12.3 17.1 20.3 26.1 25.8 21.6 16.0 9.9 4.8
A & 14.7 2.7 3.4 57 13.9 186 21.7 27.5 26.9 22.9 17.0 10.8) 5.8
Eod oW 13.7 2.4 2.7 5.2 12.4 17.0 20.0 25.2 24.6 21.7 16.3 10.5 5.8
i I 14.3 3.3 3.5 5.9 13.3 17.8 20.8 26.0 25.1 22.2) 16.8 11.1 6.3
( BRESIROAFHE )
%= =3 20.9 8.9 84 11.4 20.8 24.8 27.4 33.5 34.7 29.4 23.5 17.3 11.2
gt 17.5 5.3 47 7.8 17.5 21.7 24.2 30.1 30.8 25.6 20.3 14.1 8.3
K F 9.0 6.9 6.1 9.6 18.8 23.5 255 31.2 31.6 27.0 21.7 15.8 9.8
H f& 206 8.3 7.9 11.3 20.6 25.8 27.3 33.2 33.6 28.7 22.6 16.5) 10.9
4t 1907 8.2) 7.3 11.2 19.8 23.8 26.3 31.5 3.1 27.9 21.9 16.0 10.8
& I 20.2 8.7 7.9 I11.7 20.4 24.5 26.5 32.6 31.9) 28.4) 22.5 16.4 11.0
( HRIEKIR DA EHHE )
= F 1.0 -0.4 0.3 1.2 88 13.2 17.5 23.7 23.8 19.5 13.6 7.5 2.8
#t 8.0 -3.3 -2.3 -1.5 5.5 10.3 14.7 20.9 20.4 16.3 10.4 4.1 -0.1
KX F OB 8.4 -2.9 -1.9 -1.1 5.7 10.6 154 21.5 20.9 17.0 11.0 4.7 0.1
ki 5 9.7 -1.7T -0.5 0.4 7.5 12.0 16.8 22.5 21.7 18.1 12.3 6.0) 1.0
E db W 9.1 -1.8) -0.8) 0.1 6.4 10.8 15.4 20.8 20.7 17.5 12.5 6.5 1.4
&, 2 9.8 -0.8) 0.1 0.8 7.5 11.6 16.1 21.5 21.0) 17.9) 129 7.1 2.3
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X a7 = R &t K FE | A & | k4L m R
HREEXIR<O0OT H 47 109 102 7}4 74 53
HEE%im=2C H 145 93 113 146 124 125
RAREHE =10n/s H 2 - - ] - -
BRAEE =l1bn/s H - - - - - -
BAEHE  =20n/s H - - ~ - - _
HikE =1m H 72 104 104 99 112 X
A KkE =10m H 23 26 31 24 46 X
AREKkE =30m H 4 4 T b 18 X
R KR OB E C 38.8 35.3 35.2 37.0 37.3 39.0)
REKEOBE T -3.9 -7.3 -7.0 -5.2 -5.4) -4.1)
B K G n/s 10 9 9 10 l 6
ERFFNYIS s il 87 107 89 17 601 344
1 Re KM KE oo '17 19 43 20 65 - 51
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